Single Stage Process Costing

C4 := 210000 C», := 840000
C=C1+Cr+C3+Cy+Cs
C = 1500000

x := 30000000

Summary single stage process costing

C
Ca = —

X
Ca=0.05

Differentiated single stage process costing

C1 Co C3
c1:= — Coi= — c3:= —
X X X

c1 = 0.007

cp=0.028

c3 = 0.003

ca = 0.0055

c5 = 0.0065

Cq.=CLtCrt+tcC3t+tCygtcCq

ca=0.05

C3 = 90000

C4:= 165000 Cs:= 195000
Cy Cs
Cqp=— Cg= —
X X
Legend:

C = Total cost
X = Output
C,= Costtype 1l

C, = Costtype 2

C;= Costtype 3

C,= Costtype 4

Cg = Costtype 5

c, = Total average cost per unit

¢, = Average cost per unit of cost type 1
¢, = Average cost per unit of cost type 2
c5 = Average cost per unit of cost type 3
c, = Average cost per unit of cost type 4
Cs = Average cost per unit of cost type 5
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